WO REE R UBIE X
(Z)—L R 1t#k)

E2 SV <F & (mm) #

i
o
o

9860
6890 2970

AR 4725

E. M. T—LFRKRFS LT !

x . J—Ligko—T (- - I 3
BO—J N J@ ‘ i = 1 43.00
ATL— LAt <

A5 HF 1+
PASERT

3300
3620

3310
m
\T

1166

F.N"N 4725 2970
E. WS LA
T—LRBIRRS L& - 8 d”_’m
X @, J—LBKO—TE R i 1 3190
ATL— L& <. § '

A5 Y&
PAE q
YDA T I — L5 Q : : ©

B

3156
3300

1166

4725 2970

AR

E. M. T LIRS LE
.M. J—LRKO—TE d | b
ATL— L4 o
AT HEE X
DAL i1
INVIRM T IL— LR

o 1 27.90

-0 0o

8

3156
3300

1166

1070

20.80
x 2

1370
N

-3

1265

GL—oAFT—LA 1 455

A)—AVFT—L 1 5.20

2355

1 3.41

T8I —L

2460




WO REER U TE

& SRS <FiE(mm) HeE BE()
HHL YT A N(GERHRA) 1 92.0
HIAk % 6 6.00
IAk, R 1 8.10
PRSI 6 5.60
HIfh R—X 1 14.30
4050
H—RFAHTAR gT {em 1] 2 9.50
['e] | @ [
LT
AJL—L 1 3.72
27—ZRSk — 1 235
B —ky S 18: 2430 1 3.32
7
BI—(2F ST o 1 1.80
— 1 8
! 9260
%T \ VA re=re 1 136
BI—FHBST HARS—T17B5)
(RIFFA-T—L) o / / rATS) o\ [T
" %j 1 1.40
| 9650 | HARS—T27B5)

24



W REE R U T

é}j’M\ \VAVAVAVAV.: ﬁ

&% SR <FiE(mm) HE BE(t)
2355 6165
. |’/A\
F—1A P —rT— L g 1 1.33
/I-\V/AI
A2H—rT—L4(3m) 1 0.78
AP —rT—L(6m) L ‘ ‘ 2355 1 1.29
———————————————————————————————————————— 3mAH—hI—L4
L=3135
At —kT—L(9m) oAb 1 1.78
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mA Y —hT—L
L=9130
270 —4E5% OMAFTHA LY —h T — L 1 1.86
AH—rT—L(9m) L=9130 .
A=A —rDT L L1685
(RIFTAT—L) | 1 0.31
(3m) o \
BT — A —k ST JI/SRVERVERVERVERVER N 74 D
(RIFSART—Ls) NN 1 0.51
mAaA o o—rv
(6m) L=30%0
”””””””””””””” A P—hST
BI— b A
(RIFSAT—L) amALH—kDT 1 0.71
(9m) L=9090
IS E e e ) ] 0.24
(6m) 2 '
g MAANNANM
‘ 6075 |
IL—qFST ’
1 0.96
(RS ft) ol
IR =—AVAVAVAVAVAY
6920
il AWAVAVA: o= =
IGL—rTEST 1 0.46

25



WO REER U TE

26

pE SM T 3 (mm) HE HEQO
) g 1 1.07
AAZ(4Y
) o {0 2 0l 1 0.35
IRLAaTAY 1450
) 1 0.33
wWeme o
1=
1050 4 0.41
PASE
. LA 4 0.04
RFREI i D400
.02
200079% ° ! 3
125t79% 1 2.42
125t79%9 H940xW770xL2600
0tTvY 1 1.62
90tT7vY o HB90XW740xL2245
60tTw% 1 1.42
60tT7vY H620xW770xL2085
445
T 1 1.12
35t7v4 8
1 0.63
13.5t7v%4
© 13.5t5 LHVTvY 1 0.20
13.5t9 L HVTvs Q

HE 0.2t




